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a<0 %, VoIaZ & 2] Ao &

O -64a> @—8a ® 8a
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V64a? = /(8a)? = —(8a) = —8a
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@) ViB+1<2-1 @ 2V5+ V7> V5 +2V7
@3«/5-4«/&4«/5—3«/5 @ 3v5-3>5V5-2

— V10 <5-2+10

~&B

@ 2V5+ V7> V5 + 27

2V5+ V7 - V5-2V7= V65— V7<0
L2V + VT < B+ 27
@3V5-3>5vV5-2
3v56-3-5v54+2=-2V5-1<0
2 3V5-3<5v5-2

® 3- V10 <5-2+10
3-VI0-54+2VI0=-2+4 V10> 0
. 3-+v10>5-2v10
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(x+a)(x+b)(x+c) 7t =AUt oW a + b + ¢ O] FF2?

x(x2-9)+(x*-9) = (x2-9)(x+ 1
=x+3)(x=3)(x+1)
Ot a=3,b=-3,c=1°22

a+b+c=10°]|c}.
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0<a<l1l9Xa>0a-1<0

Va2 - Vie-12=a-{-(a-1)}=2a-1
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7.

o2 3 x%H? - %y - xy? +xy 9 A=Y

@x—l @x+1 Oy+1 @ x+y

x2y? —x%y —xy® + xy = xy(xy —x—y+1)
=xy{x(y-1)-0-1)}
=xy(x-1)(y-1)




